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30
1,370,880

1,320,828
53.9uT

99% 1.86T

95% 0.37T
0.03T
0.01T
0.15+1.08 T

o OBk WN B

873,028
10.6pT

99% 0.70T

954 0.15pT
0.03pT
0.01puT
0.060.10 T

o OBk WN B

515,886
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- 99%
. 95%

. 99%
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. 95%

- 99%
. 95%

23

515,886

368,593

357,142

1.691aT
0.62T
0.16jaT
0.03uT
0.01paT
0.0540.10 T

43. 77T
0.69T
0.21uT
0.03T
0.01T
0.07%0.51 T

13.5uT
0.57T
0.18paT
0.03uT
0.01pT
0.05%0.13 T

53.9uT
5.05uT
0.95T
0.05pT
0.01paT
0.3241.83T
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4.2-4
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4.3

4.3.1
2 2 V 50 V
1999
100m GIS
100m
m
0-50 50-100 100m
14 1.8% 39 (5.0 %) 723 (93.2 %)
1 4.3.1-1
0.928 (p<0.001)
100m
4.3.1-2
4.3.1-1
SE

) |1 S HT 1 ,uT
0-50m 14 (1.8 %) 0.18 (0.02) 0.17 (0.04)
50-100m 39 (5.0 %) 0.08 (0.02) 0.07 (0.02)
100+m 723 (93.2 %) | 0.04 (0.00) 0.04 (0.00)

4.3.1-2 100m 1
SE
100m 1
KT

22-33 kV 2 (3.8 %) 0.08 (0.01)
66-77 kV 34 (64.2 %) 0.10 (0.02)
100-300 KV 17 (32.1 %) 0.12 (0.00)
500 kV 0 (0% -
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( 4.3.1-3)

4.3.1-3

100m

100m

6.8%

4.3.1-3

5.3%

100m

1925

101 (5.3)

24 (1.3)

342 (17.8)

252 (13.1)

63 (3.3)

134 (7.0)

TV

23 (1.2)

33 (1.7)

4.3.2

100m
50m
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4.4
4.4.1

4.4.2

100m
0.1pT
(1D=40,41,50) 0.4paT

6600V
0.76 uT

0.65 uT

0.48uT
0.75 uT

0.17pT

(  6600V)
100V 200V

68

4 (5.7%) 0.2uT 3 4.3%
2.8% (1D=40,41)

0.71uT 1D=40
0.92 uT,
0.28 uT
1.24 T
0.93 uT,
10 uT

(0.40 uT) 1D=41
0.43 T 0.23

0.50 uT
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100m

0.25 uT

0.12

0.23 uT 1D=50
0.24 uT 0.22 0.26
1im 0.71 u
0.19 uT
0.11uT 1D=12
0.11 0.14
3
0.23 uT
4.4.2-1 8 0.4pT
1D-40 1D=41
50cm
EMDEX-11(Enertech )
10cm 4
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4.5

(0.7%)

4.5.1

4.5.2

100m

723

1927

62

(6.4%) 0.2uT 24 3.2%
20 1 0
4.5.2-1
3 6
( 4.5.2-2)
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45.2-3

452-4

23 5
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o Ol WN B

o Ok WN

o Ok WN B

873,028
53.9uT

- 99% 2. 10T
. 95% 0.20paT

0.00pT
~10.6pT
0.1241.24pT

10T
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515,886
43.77T

99% 0.28T

. 95% 0.06paT

0.00pT
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10T ID=35 23 3 28 13

357,142
53.9pT
. 99% 5.01paT
. 95% 0.65pT
0.00paT
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0.2541.83pT
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504,435
) 53.9uT
. 99% 3.80pT
. 95% 0.39uT
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4.5.2-5

45.2-6 42

452-7
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o Ol WN B

99%
95%

283,373

55

32.9uT
0.49T
0.13uT
0.03uT
0.01T

0.07%+0.46 T
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16000

1927

4.5.1-1

68 42
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4.5.2-1

n=1,927
8 94 199 178 110 65 2 656
% 11.1 28.3 38.7 36.9 52.9 22.6 7.69 34.3
7 128 336 266 137 167 6 1047
% 9.7 38.6 65.4 55.2 65.9 58.0 23.1 54.6
8 183 298 303 138 174 4 1108
% 11.1 55.1 58.0 62.9 66.4 60.4 15.4 57.7
69 324 502 472 202 283 24 1876
% 95.8 97.6 97.7 97.9 97.1 98.3 92.3 97.6
72 324 499 471 204 279 23 1872
% 100 97.6 97.1 97.7 98.1 96.9 88.5 97.4
69 326 498 461 201 281 22 1858
% 95.8 98.2 96.9 95.6 96.6 97.6 84.6 96.7
9 38 119 106 35 58 2 367
% 12.5 11.5 23.2 22.0 16.8 20.1 7.7 19.1
68 316 493 467 202 277 26 1849
% 94.4 95.2 95.9 96.9 97.1 96.2 100 96.2
46 259 385 380 153 205 11 1439
% 63.9 78.0 74.9 78.8 73.6 71.2 42.3 74.9
27 142 255 276 105 132 8 945
% 37.5 42.8 49.6 57.3 50.5 45.8 30.8 49.1
v 69 322 496 472 201 269 26 1855
% 95.8 97.0 96.5 97.9 96.6 93.4 100 96.5
v 3 57 96 80 34 38 1 309
% 4.2 17.2 18.7 16.6 16.4 13.2 3.9 16.1
v 28 150 372 355 152 193 9 1259
% 38.9 45.2 72.4 73.7 73.1 67.0 34.6 65.5
56 280 416 398 158 235 21 1564
% 77.8 84.4 80.9 82.6 76.0 81.6 80.8 81.4
41 223 305 298 128 138 6 1139
% 56.9 67.2 59.3 61.8 61.5 47.9 23.1 59.3
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